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1 0100 —8K 454 1,093
2 4100 8®HFERX 739 2,240
3 0200 RBREER 156 265
4 0300 FEERERX 57 133
3 0400 BEFE1TEIER 253 543
6 0500 EBEaAR1TEZ2E 344 864
7 0600 BEA/AHMFE2THIEX 273 611
8 0700 ER/HFPE2TH2EK 319 711
9 0800 HHEHFEITEIR 324 730
10 0900 BAEHFEITH2RE 143 321
11 1000 HBFE 392 1,072
12 1100 HEREX 280 697
13 1200 HEFEX 321 806
14 1300 REHERX 153 331
15 1400 $ERE 177 415
16 1500 JEEERER 374 873
17 1600 Je#HEBEER 197 482
18 1700 ®BRE 342 914
19 1800 #FE 343 856
20 1900 RERE 220 496
21 2000 @E@ER 154 387
22 2100 EiRHAE1ITEE 511 1,212
23 2200 EXRAE2THE 583 1,362
24 2300 BIXRAEISTHEE 293 767
25 4200 #RE 167 478
26 2400 EEI1R 154 356
27 2500 LFEI2K 76 205
28 2600 | FEJ3E 240 475
29 2700 | RFEI4K 40 87
30 2800 HhEYR 168 371
31 2800 TEHIIR 202 503
32 3000 TFHT2E 355 885
33 3100 TFEI3E 278 743
34 3200 TFHEI4E 293 709
35 3300 #HWREEX 285 602
36 3400 #RBE 322 829
37 3500 #@RAEEX 207 478
38 3600 HbX 348 864
39 3700 HRER 688 1,688
40 3800 EHEEX 703 1,958
41 3900 AlIgR 101 265
42 4000 ANER 158 408

8 i 12,187 30,085




